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Question: 37

You are creating a Cloud Volumes Service volume In Google Cloud Platform (GCP) that serves multiprotocol SMB
and NFS.

In this scenario, which two directory services are supported? (Choose two.)

A. Windows Workgroup Authentication
B. third-party Active Directory as a Service in GCP
C. Windows 2008r2 or later Active Directory server in the tenant Virtual Private Cloud (VPC)
D. Linux Samba Active Directory in the tenant Virtual Private Cloud (VPC)

Answer: A,C,D

Question: 38

You are managing vow Cloud Volumes ONIAP Instance running ONTAP 9.3. You notice youâre your volumes are
using too much space.

Which command do you use to display the Snapshot copy disk consumption?

A. volume efficiency show
B. df -h
C. volume snapshot autodelete modify
D. volume show

Answer: B

Question: 39

Which two mandatory export policy variables need to be defined when creating a volume in Cloud Volumes ONTAP?
(Choose two.)

A. Access
B. Allowed Clients
C. Junction Path
D. Service Level

Answer: A,B

Question: 40

Click the Exhibit button.



You have set the Snapshot policy shown in the exhibit on your Cloud Volumes Service for AWS.

On the 30th of the month at 10:00 p.m., how many Snapshot copies do you have?

A. 14
B. 12
C. 2
D. 6

Answer: B

Question: 41

Your company has purchased a NetApp HCI. You are asked to deploy HA file services out of the NetApp HCI system.

Which two actions accomplish this task? (Choose two.)

A. Use ONTAP Select Deploy.
B. Provide an ONTAP Select license file.
C. Provide an ONTAP cluster base license key.
D. Select âYes, I want to enable File Servicesâ on the NetApp Deployment Engine.

Answer: A,B

Question: 42

You are building a Cloud Volumes ONTAP HA for AWS system to support a high performance OLTP database.

In this scenario, which two AWS disk types would you use? (Choose two.)

A. Provisioned IOPS SSD (io1)
B. Cold HDD (sc1)
C. Throughput Optimized HDD (st1)
D. General Purpose SSD (gp2)

Answer: A,D

Question: 43

Which two services do you need to configure before you provision CIFS access in Cloud Volumes ONTAP? (Choose
two.)

A. NIS
B. ONS
C. FPolicy



D. Active Directory

Answer: A,B,C

Question: 44

You need to double your Cloud Volumes Service storage and performance.

Which attribute would you edit to satisfy this requirement?

A. Service level
B. Quota
C. Name
D. Togs

Answer: A

Question: 45

You have an AFF A800 configured with a Fabric Pool to the public cloud. The auto tiering policy is set on all
volumes, but you are not tiering any data.

In this scenario, what are two causes for this problem? (Choose two.)

A. You do not have a Flash Pool license.
B. You do not have a Fabric Pool license.
C. Your aggregate is thin provisioned.
D. Your aggregate is under 50% utilization.

Answer: A,B,D

Question: 46

You are provisioning Cloud Volumes ONTAP HA in AWS with 300 TB and a Bring Your Own License (BYOL).
You also need to tier cold data from EBS to S3.

In this scenario, which two cloud disk types are supported? (Choose two.)

A. Provisioned IOPS SSD (Io1)
B. Cold HDD (sc1)
C. Throughput Optimized HDD (st1)
D. General Purpose SSD (gp2)

Answer: A,C,D

Question: 47

A customer Is Implementing an AWS cloud-only solution for their business applications. The cloud administrator
configures a public and a private subnet in an AWS VPC.

The traffic can be routed between the public and the private subnets. The administrator then attempts to deploy
OnCommand Cloud Manager In the private subnet, but it fails.



In this scenario, which two networking components are required to successfully accomplish this task? (Choose two.)

A. NAT gateway
B. customer gateway
C. virtual private gateway
D. Internet gateway

Answer: A,D

Question: 48

You are deploying Cloud Volumes ONTAP HA in AWS with one node of the HA pair in us-west-2a and the other
node in us-west-2b. You will create an SMB share on one of the nodes.

In this scenario, what is the minimum number of floating IP addresses required for data access and cluster
management operations?

A. 3
B. 2
C. 1
D. 4

Answer: D

Question: 49

Referring to the exhibit, what is being configured?

A. replication of Cloud Volumes ONTAP to on -premises ONTAP
B. tiering of on-premises ONTAP to AWS S3
C. replication of on premises ONTAP to Cloud Volumes ONTAP
D. tiering of AWS S3 to on premises ONTAP

Answer: C

Question: 50

You have SnapMirror connectivity issues between two Cloud Volumes ONTAP dusters.

Which advanced ONTAP command would you use to troubleshoot and test replication connectivity?

A. network ping
B. vserver peer show



C. cluster peer ping
D. cluster ping-cluster

Answer: B




